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1. efuyn] 0 0 0
1.[z]H]H) 0 0 0
1.eHn) 0 0 0

2. [2]FA L dH R 0 0 0
1.¢Hn) 0 0 0
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ARALY ARG duas | aqane | qza | Azee [gd= o9
AFAPtEFEs ([2]F5TA9Y 1,026,000 0 0 1,026,000 1,500,000
EEEa 1,080,000 880,000 880,000 200,000 0
Efé;?;:” ;’j@;; 4 200,000 199,400 199,400 600 0
FA Qg mee | EIE AT g 903 000 8,722,500 8,722,500 480,500 0
SIS TS 640,000 3,326,480 3,326,480 3,413,520 0
PETARETIE A 39 411,000 32,972,040 32,047,350, 7,363,650 2,000,000
DR EEREA L 5 378,000 2,378,000 2,378,000 0 0
7 60,038,000 48,478,420 47,553,730 12,484,270 3,500,000
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